Puzzle 8173 - Tuesday, 26 November, 2013 - Difficulty 3

20 ] 31 41 13|
8|7 2|19 |5]6|4]3
71787: ,,,,,,,,,,,,,,,,,,,,,,,,,,, éff::fffff; ‘1’9”,1’:”1’;‘.’,’:’3’éff:ji
5146|813 |27 9|1
VS I ETVR TS S I
11396 |7 4|85 2
;’8’"”:::,: ‘ i :l’o"’”ffff:,‘ ;’3’:’,‘ ’1’1”" ffffff,: :175",111
7|51 14|63]9|2]|8
% :”2’1”,11,::::,: i}’::l’:’ ,,,,,,,,,,,, l i Zf:::ffff:,: i i
619|452 |83 |17
%fff::,: % T : :1727:”::::77111::77174""3 }’4’1113
2181319171465
% fr—— ?172’::1 ’1’2”,111 ‘1’9”,’,’,’,11:11’,} :1707:7 i i i
4|11 7)13)5|6]1289
N ] ) | I
3|6]5)12| 8 9f1 74
10 | | I 8 |
9]2|8]7]4[1]5|3]6

Copyright (c) www.dailykillersudoku.com



